Additional problems due Wednesday April 4

1. Convert the following LP problem into standard form

maximise ¢ = 1 —3zy +2x3
subject to —x7 —x9 +7x3 > 9
T +65L‘2 “+x3 S 28
2x1 4o —3x3 = 16
r1,T9,T3 Z 0

2. Convert the diet problem from the first day of class into standard form.
For those who weren’t there, this took the form:

minimise ¢ = 121 +Coxo +c3x3 Hcqmy
subject to ay1x17 +aprs +ajzrs +a1424 > by
2171 +Q2T2 +a23T3 +a2474 > by
a3 Ty +azTs +as3rs +azqzy > b3
T1,T9,T3,T4g Z 0

See Exercise 5.16 for an almost identical set-up which explains the
notation.



